


—/\iﬂd W, M 7’31 16cm, W12 k0.86cm, KJ&H
100m 5N NBIAG BN ISR 4E1000°C fRi
100h J5 (léélJTr% AV HO , JL453.60g ik AN . AN
E’Jﬁ)%ﬁ%;,z%?mﬂ?@?ﬁ:

r/cm w(C)/% r/’cm w(C)/%
0554 0.28 0.491 1.09
0.540 0.46 0.479 1.20
0527 0.65 0.466 1.32
0.516 0.82 0.449 1.42

VAR NP HCREG IR - R Bt 2k




SR s L

SR,

%{t::
® 5[ N M B R FFTH E

ROBHAUR, AR UL )

IH

& i EWNIEE, Rkt
1000°C {34100 J§ GAFI TR #0)

® LI [ a) P 2% A H B S TE
KA

UESE

J I_f"




.1 5.1 PREIRH

3. REAY HUHISEH

- L =}
I‘j’ﬂ 2 %Eiif%, l% %%;E x’é\

NT———
WL q=-DQatr) 4E = D@2l €
dr dinr
dC _ q
dlnr D2 7lt

SRS Y L o/tEEE, C Sralill, h s,
BAECEINr) <A LR, SKAZENED.




r/’cm wW(C)/% r/cm wW(C)/%
0.553 0.28 0.491 1.09
0.540 0.46 0.479 1.20
027 0.65 0.466 1.32
0.516 0.82 0.449 1.42

Ckg/m3; rm qkg/m2s D:m?s Im ts
T Fe MR iR B ) BN 1) % i p=7.85¢/cm3=7.85X103kg/m3, 15 2

r/ xX103m w(C)/ kg/m?3 r/ xX103m w(C)/ kg/m?

5.53 21.98 4.91 85.565
5.40 36.11 4.79 94.2
5.27 01.025 4.66 103.62

5.16 64.37 4.49 111.47




YE(C)~(Inr) th &

120 -

1[]{]—- S
ED—- \
-fm- \

20 - -

C/kg.m”

1 " 1 " 1 . | : 1
5.40 5.35 -5.30 5.25 5.20
In(r / m)



" N

KA R RFERK AR
a] Lk 1S
r/ xX103m D/ x101"m%/s r/ xX103m D/ X101"m&/s
Hh.53 2.68 4.91 410
5.40 2.64 4.79 4.60
5.2 2.56 4.66 DD
5.16 3.00 4.49 7.93




iy
L2
X
C

D/m%’

8.0x10™" o

7.00107" <

6.0x10"" 4

5.0x107" S

4.0x10"" 4

3.0x10" -

2.0x10™"

60
C/kam™

|
80

|
100

1
120



2. LG B, FA R

3t |
T‘L
\1%
r.,_‘-q_,,

A
T3

jfﬁt ;--.:i:. ?jjh ;L‘ *_IL%H}%:

o RN N Z T J1 APy, £

T“%IZ%%U'JD T A E AN R e L )
AR PN SRR AL ) =
1) SIHIES R ARAS T <8 284 v 1 15 s
K9 BT R s

2) $& H kb 2 HGR K 1) S it




¥ ;

(1) J__DG_C

ﬁﬁ%ﬂ; E\ 'C_k\/piﬂ

IR RS TUU\?’J%FJ‘E
ST AR R A A2 A4, KRS

% 2
K
0
=
Kt

N
e

N
CHIYHE

5

i/ EEC=0,

IRl I - J——Da—cz—[)k‘r

l

(2) Heh L5, I’JELE&"‘ ?F HCR R By 22N, Lk

] Umﬂl‘t’ IOEREY RS
Jiﬁ fI’] %%&M 7FI

u;ﬂﬁQ’J‘Dﬂk:

i‘bw%ﬁ*ﬁ h



3.*5%%%%&, w(C)=0.1%, 7E930°C&lk, ZKIHlk
WRIERFFW(C)=1%, &Y HURECAHEL,
D=0.738exp[-158.98(kJ/mol)/RT] (cmz-s1) .

[ER

E%iéW0.05cm Kb BE w(C) T 42.0.45 %6 it 75 2L [ I}
H

FAEEE R0 1om ALIREFRIFERIIKSE (0.45%) Fiid
H@XE%&?

T Y RURBOY B, fEF i M A Al
SIES SOE e




U“rl

R 22 B 2

C=C —(C.-C,erf

2Dt
C =1%, CU—01%, C,=0.45%, x= =0.05 A5
TIMEJ
0.05
erf s 0.6111
2 3K15 t=5.2h

Eipzau) Mz?% (2)
(3) Wy FE kel xeevDr




4.870°C 5k
EIEI*_L-@]H/J\,* {"PXE

1) -
. 870 C&lixy E 2 /DI IR] A ge k1T 5927 Ci2hix 10/

AR R RS = R

b L]

LD § 2
“ﬁ?“f

ﬁF%ﬁﬁmﬁﬁf
FERIH 72 L7

&
£ R %W%’irjﬁ’]?@éﬁiﬁii%ﬂ)
=R 2 b 3 = 0.3%4L, i1 870°Ci&1ik10/)

5927 Cz i AHEL, LR AL HE ™ b

201N

(I:'&HD Q, ZWEAEWLE T

5 927 C 2 [FIFE I [a] fr 15 )5




"
D = D, expQ/RT)

~{
D, exp( ) -
) R-71 :exp(ﬁ-i;;>
D, exp( )

R-T2

|-, IDC‘/E

RAHAR ) 0 S IR B,
Ly Dy,

Ly Dy

AH ] (K2 BRI ],

%r _ ¥Dre

5. D, HEADGFIQHEITT

DT]
DTE

ke

T2



“JUAH B 2 et




"

1

1) Cu-Sn_JuAHEH REREEAR? 11 ILP238
20%CU (ANE-20%Sn) FHiA HIHA HT i 2

2)

1200

1100 -
1084 87°CF
1000 -
00 -

800 -

TR0

Temperature °C

Tl B

[E:n}l—-

©ap 106

<WfT? N




"

2. MR B

I — JeAH

i U[tj/‘:é*f]i (C%---T)

m = AHE N, T

m ERAH N S

| SR



1 1 T T T T 1 RS | '17
3186 °
3000 1
o
i, X 'S
250 gas: 25257 /)
Rt 0 :
2600 e B ,:__i—./e‘—-(ﬁg
2400 59.5 168 183.5 N
i/ i II
2200 f2444q i) A
E |
2000 ; - ;w,qf g
Fi ' I~ 30 ) an ﬂ
18001 I 1 82.50 14
! 1853 1 1
1600 I | teh 1
/ v {4+ |
1400 ; \ ;f TR
1200} ol ey &
43[-——14(-—|_ sl |
74,5855 |
1000 ! i ! ) I | Ly B ) -
Mo 10 20 30 40 50 60 70 82 90 Re

Re,%



"

3. /\*ﬁ”’\‘ﬁi)“z_
S 1 2 = 15T

Hﬂ ”%BJ’T'E‘
EARH 2

l

)

Rl

-aéﬂ.-f/\? 7

JLJ"'rJ

f_

71N BN E

o

L

S5

=0.2% F1.5% 1 kK & w12 WA R G
AT

¥ H1 i 25 Ui
4730 CHI720°C




a+ FeyC

Dl- I i . i L i i i | L
F'E:ﬂ.ﬁ 1.0 1.5 2.02.53.03.54.04.5 5.0 5.56.06.56.6¢

\(I+P‘|'FE53C|;|

/30°C



wi{C) %



"

457K o 2. 5°/oE’J’{%EﬁJ)“zAA$U e R G0 NS -1
B EIR AR, JF S A o
im0 B A QHEJUI‘HEI’J G- @




"

.

EipiE

£, i 25211
4.30-2.11

43-25 2.11-0.77

43-211 669-077
43-25 6.69-2.11

X
43-2.11 6.69-0.77

| L—vy+Fe,C(Ly)

FESCII
v—P

NIV A E

x100% =17.8%

reC,%=

P% = x100% = 63.6%

«100% =18.6%

FE’SCH _I_Ld’

1 BN} =z
A 1 495

R

==

0L
Fe 0.5 1.0 1ﬁzuzﬁjuaﬁan-ﬁﬁnﬂsaﬂﬁﬂ-a
'w(C) /%



"

| L—y+FeC(Ly)

“f’_FE‘EgCu
v—P

P+ FesCy+Ls

ZH RS B 73 %L

a% = RIO—2.9 62.6%

6.69

2.5
Fe,C=""=374%

6.69

ADRINE
eg: 82.2%-18.6%=13.6% 0 '

=} " i i i el s I I__
Fe(.51.0 1.5 2.02,53.0 3.5 404.5 5.05.56.06.56.6
wilC} %




" N

5.7 51
AT HE K A P IR AR

KA HEE &

il

=

<l



" NS

X HAH B

Fe - FGBC I"i%-% C%=6.69%
Fe—-C *%IE% C%=100%

a+ Fe;C

oL i L i a1 3 1 i
Fe00.51.0 1.5 2.02.53.03.54.04.5 5.05.56.06.56.6¢
wl(C) %




"

6. 1+%—£¢%Ei{$[jxéﬁ%?§ﬁﬁﬁgw TIRB AR IR
IRV ENTE




575.0 5.56.06.56.69

w(C) %



—JCAH I ] &t




1R 2,
4 sz%éu_/]g? ALK
Ui B REAN R SN, (R 2R
IR B WA-30% B-55%. C-15%I114 45t

/ﬁ\ﬁ&, T HIX 51945 °C EAHHIAR R A

HR e MA-20% B-35%- C-45% 1654
] 5 R




R

g

LY

AL

ok

-+

-y
——

—

curd
| o
by
41
2l =
X 4
R 5
- X
= i
=T 1]
W H
=2 L
H B

-
rll.llllllllllll

=
-.-r..l.-.-
||.|.|IIII..I




R ENCYSINVANEATICY
1 PUAH: L+B—G+V
0 —=A: L+B—a
L+—Y

| —a+Y
S H W ?
VAH 2 BT A Ay




nt Y

\a

B+ o+ (a+y)+ ot







MR Fe-FesC-Fe,P = o &M EMSOEE (M

%15-122)

[ ROl % = o0 RH TR #E R, IS B XA
=GR R LR LA W AH 2 5 1 = A S

> FEHZ =0 R HVRAH B R4S i H Y E— [ 44

3. A Fe-Fe,C-Fe,P=J 0 &R & & AE 1 41t i 30
I AR AERLETE A 25 5 1) = AH P AR

1) 1005~7457C; 2) 950~7457C; 3) 745~725C

4 T DA PRI I E AL AR IS, WA 13
NG A WAH? I3 IX LS5 gk SR HI I IR 2
AL AR




1. = JCARWAHTE 52
2. Ve AH H El%fnlaﬂumﬁ_‘
[ifi] 4%
VRUFH 25 &) 7 11X 3

3.0k EYFE, R H A
= V1% e A DU AH -1 e WY 2
H] {) = AH - it 4% AR

4. L—y+Fe4P







" o

m 1.0 K halim A eI D)




2.7 b, UEB] AG =-—VAG,







"

f. ky=k,=0.3/0.6=0.5

2R S T

Cs

(AW €7

LR IR

= kOCD[l——

]

Z
L

ARENTE

, WRAHSE

2REN, B

N 5 A5Z/L=0.56, FrPIILSAR1-Z2/L=0.44
N AT A 2 # 2




B% )

Z/L




